

JOB ESTIMATE

REEFCO SERVICES

3439 Kronprindsens Gade, Ste 5
 St. Thomas USVI 00802



Date: 2/7/18
 Job Number: Little Saint James

St. Thomas USVI

Att. [Redacted]
 Phone: [Redacted]
 Fax: [Redacted]
 Email: [Redacted]

We are pleased to submit the following cost estimate:

Job Description: Replacment of 18,000 BTU High Efficiency 19 Seer A/C Unit in Captain's Office
 Fujitsu 18RLB. Unit was badly damaged in hurricane. Install new surge protector on unit.

MATERIALS To use existing line set and electrical

| QUANTITY | DESCRIPTION | UNIT PRICE | TOTAL |
|-------------------------|---|-------------|-----------------|
| 1 | 18,000 Btu High Efficiency 18RLB Fujitsu A/C unit | Cost \$1888 | 2,517.33 |
| 1 | Surge protector | Cost \$160 | 200.00 |
| | | | |
| | | | |
| | | | |
| MISC | Plumbing-Hose, Clamps, Piping, etc. | | 150.00 |
| MISC | Electrical-Wire, connectors, etc. | | 75.00 |
| | | | |
| | Freight | | 95.00 |
| Materials total: | | | 3,037.33 |

Labor of Installation

| HOURS | DESCRIPTION | CHARGES | TOTAL |
|-------------------------------|--|---------|-----------------|
| 8.00 | Installation of new Condenser and Evaporator | 101.00 | 808.00 |
| 8.00 | Helper | 50.00 | 400.00 |
| | Only actual hours worked will be billed at completion of job | | |
| | | | |
| | Gross Receipt Tax | | Inc. |
| Labor & Tax total: | | | 1,208.00 |
| Total estimate: | | | 4,245.33 |

TERMS: 50% down, 50% upon completion of job
 Prices Reflect a 25% markup
 Reefco, Services Representative

Customer Representative

Sign _____
 David Van Drieson Title: President

Sign _____ Date ___/___/___

JOB ESTIMATE

REEFCO SERVICES

3439 Kronprindsens Gade, Ste 5
 St. Thomas USVI 00802



Date: 2/7/18
 Job Number: Little Saint James

St. Thomas USVI

Att. [Redacted]
 Phone: [Redacted]
 Fax: [Redacted]
 Email: [Redacted]

We are pleased to submit the following cost estimate:

Job Description: Replacment of 18,000 BTU High Efficiency 19 Seer A/C Unit in Captain's Office
 Fujitsu 18RLB. Unit was badly damaged in hurricane. Install new surge protector on unit.

MATERIALS To use existing line set and electrical

| QUANTITY | DESCRIPTION | UNIT PRICE | TOTAL |
|-------------------------|---|-------------|-----------------|
| 1 | 18,000 Btu High Efficiency 18RLB Fujitsu A/C unit | Cost \$1888 | 2,517.33 |
| 1 | Surge protector | Cost \$160 | 200.00 |
| | | | |
| | | | |
| | | | |
| MISC | Plumbing-Hose, Clamps, Piping, etc. | | 150.00 |
| MISC | Electrical-Wire, connectors, etc. | | 75.00 |
| | | | |
| | Freight | | 95.00 |
| Materials total: | | | 3,037.33 |

Labor of Installation

| HOURS | DESCRIPTION | CHARGES | TOTAL |
|-------------------------------|--|---------|-----------------|
| 8.00 | Installation of new Condenser and Evaporator | 101.00 | 808.00 |
| 8.00 | Helper | 50.00 | 400.00 |
| | Only actual hours worked will be billed at completion of job | | |
| | | | |
| | Gross Receipt Tax | | Inc. |
| Labor & Tax total: | | | 1,208.00 |
| Total estimate: | | | 4,245.33 |

TERMS: 50% down, 50% upon completion of job
 Prices Reflect a 25% markup
 Reefco, Services Representative

Customer Representative

Sign _____
 David Van Drieson Title: President

Sign _____ Date ___/___/___

JOB ESTIMATE

REEFCO SERVICES

3439 Kronprindsens Gade, Ste 5
 St. Thomas USVI 00802



Date: 2/7/18
 Job Number: Little Saint James

St. Thomas USVI

Att. [Redacted]
 Phone: [Redacted]
 Fax: [Redacted]
 Email: [Redacted]

We are pleased to submit the following cost estimate:

Job Description: Replacment of 18,000 BTU High Efficiency 19 Seer A/C Unit in Captain's Office
 Fujitsu 18RLB. Unit was badly damaged in hurricane. Install new surge protector on unit.

MATERIALS To use existing line set and electrical

| QUANTITY | DESCRIPTION | UNIT PRICE | TOTAL |
|-------------------------|---|-------------|-----------------|
| 1 | 18,000 Btu High Efficiency 18RLB Fujitsu A/C unit | Cost \$1888 | 2,517.33 |
| 1 | Surge protector | Cost \$160 | 200.00 |
| | | | |
| | | | |
| | | | |
| MISC | Plumbing-Hose, Clamps, Piping, etc. | | 150.00 |
| MISC | Electrical-Wire, connectors, etc. | | 75.00 |
| | | | |
| | Freight | | 95.00 |
| Materials total: | | | 3,037.33 |

Labor of Installation

| HOURS | DESCRIPTION | CHARGES | TOTAL |
|-------------------------------|--|---------|-----------------|
| 8.00 | Installation of new Condenser and Evaporator | 101.00 | 808.00 |
| 8.00 | Helper | 50.00 | 400.00 |
| | Only actual hours worked will be billed at completion of job | | |
| | | | |
| | Gross Receipt Tax | | Inc. |
| Labor & Tax total: | | | 1,208.00 |
| Total estimate: | | | 4,245.33 |

TERMS: 50% down, 50% upon completion of job
 Prices Reflect a 25% markup
 Reefco, Services Representative

Customer Representative

Sign _____
 David Van Drieson Title: President

Sign _____ Date ___/___/___

JOB ESTIMATE

REEFCO SERVICES

3439 Kronprindsens Gade, Ste 5
 St. Thomas USVI 00802



Date: 2/7/18
 Job Number: Little Saint James

St. Thomas USVI

Att. [Redacted]
 Phone: [Redacted]
 Fax: [Redacted]
 Email: [Redacted]

We are pleased to submit the following cost estimate:

Job Description: Replacment of 18,000 BTU High Efficiency 19 Seer A/C Unit in Captain's Office
 Fujitsu 18RLB. Unit was badly damaged in hurricane. Install new surge protector on unit.

MATERIALS To use existing line set and electrical

| QUANTITY | DESCRIPTION | UNIT PRICE | TOTAL |
|-------------------------|---|-------------|-----------------|
| 1 | 18,000 Btu High Efficiency 18RLB Fujitsu A/C unit | Cost \$1888 | 2,517.33 |
| 1 | Surge protector | Cost \$160 | 200.00 |
| | | | |
| | | | |
| | | | |
| MISC | Plumbing-Hose, Clamps, Piping, etc. | | 150.00 |
| MISC | Electrical-Wire, connectors, etc. | | 75.00 |
| | | | |
| | Freight | | 95.00 |
| Materials total: | | | 3,037.33 |

Labor of Installation

| HOURS | DESCRIPTION | CHARGES | TOTAL |
|-------------------------------|--|---------|-----------------|
| 8.00 | Installation of new Condenser and Evaporator | 101.00 | 808.00 |
| 8.00 | Helper | 50.00 | 400.00 |
| | Only actual hours worked will be billed at completion of job | | |
| | | | |
| | Gross Receipt Tax | | Inc. |
| Labor & Tax total: | | | 1,208.00 |
| Total estimate: | | | 4,245.33 |

TERMS: 50% down,50% upon completion of job
 Prices Reflect a 25% markup
 Reefco, Services Representative

Customer Representative

Sign _____
 David Van Drieson Title: President

Sign _____ Date ___/___/___

JOB ESTIMATE

REEFCO SERVICES

3439 Kronprindsens Gade, Ste 5
 St. Thomas USVI 00802
 [REDACTED]



Date: 2/7/18
 Job Number: Little Saint James

St. Thomas USVI

Att. [REDACTED]
 Phone: [REDACTED]
 Fax: [REDACTED]
 Email: [REDACTED]

We are pleased to submit the following cost estimate:

Job Description: Replacment of 18,000 BTU High Efficiency 19 Seer A/C Unit in Captain's Office
 Fujitsu 18RLB. Unit was badly damaged in hurricane. Install new surge protector on unit.

MATERIALS To use existing line set and electrical

| QUANTITY | DESCRIPTION | UNIT PRICE | TOTAL |
|-------------------------|---|-------------|-----------------|
| 1 | 18,000 Btu High Efficiency 18RLB Fujitsu A/C unit | Cost \$1888 | 2,517.33 |
| 1 | Surge protector | Cost \$160 | 200.00 |
| | | | |
| | | | |
| | | | |
| MISC | Plumbing-Hose, Clamps, Piping, etc. | | 150.00 |
| MISC | Electrical-Wire, connectors, etc. | | 75.00 |
| | | | |
| | Freight | | 95.00 |
| Materials total: | | | 3,037.33 |

Labor of Installation

| HOURS | DESCRIPTION | CHARGES | TOTAL |
|-------------------------------|--|---------|-----------------|
| 8.00 | Installation of new Condenser and Evaporator | 101.00 | 808.00 |
| 8.00 | Helper | 50.00 | 400.00 |
| | Only actual hours worked will be billed at completion of job | | |
| | | | |
| | Gross Receipt Tax | | Inc. |
| Labor & Tax total: | | | 1,208.00 |
| Total estimate: | | | 4,245.33 |

TERMS: 50% down, 50% upon completion of job
 Prices Reflect a 25% markup
 Reefco, Services Representative

Customer Representative

Sign _____
 David Van Drieson Title: President

Sign _____ Date ___/___/___